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7. Student of Abelard, quoted in: Beryl Smalley, The Study of the Bible in the Middle Ages, Oxford
1952,p. 78

If the Christians educate their sons, they do so not for God, but for gain, in order that the one brother,
if he be a clerk, may help his father and his mother and his other brothers. They say that a clerk will
have no heir and whatever he has will be ours and the other brothers. . . . But the Jews, out of zeal for
God and love of the law, put as many sons as they have to letters, that each may understand God's law.
A Jew, however poor, even if he had ten sons would put them all to letters, not for gain as Christians
do, but for the understanding of God's law, and not only his sons but his daughters.



